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Important Facts and Formulae:

Time

1. Speed = (Dis_tan Ce), Time = (Dissptea:dcej, Distance = (Speed x Time)

2. xkm / hr = (xX%j m/sec

3. xm/sec = [XX%jkm/hr
4. If the ratio of the speeds of A and B is a : b, then the ratio of the times

taken by them to cover the same distance is 1 %or b:a.
a
5. Suppose a man covers a certain distance at x km/hr and an equal
distance at y km/hr. Then, the average speed during the whole

journey is (ﬂj km/hr.
X+Yy

Important Facts and Formulae:

1. akm/hr = (ax%j m/s.

2. am/s= (ax%j km/hr.

3. Time taken by a train of length | meters to pass a pole or a standing man
or a signal post is equal to the time taken by the train to cover [ meter.

4. Time taken by a train of length | metres to pass a stationary object of
length b metres is the time taken by the train to cover (I + b) metres.

5. Suppose two trains or two bodies are moving in the same direction at u
m/s and v m/s, where u > v, then their relatives speed = (u - v) m/s.
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. Suppose two trains or two bodies are moving-in opposite directions at u
m/s and v m/s, then their relative speed is = (u + v) m/s.

. If two trains of length a metres and b metres are moving in opposite
directions at u m/s and v m/s, then time taken by the trains to cross each

other = (a+h) sec.
(u+v)

. If two trains of length a metres and b metres are moving in the same
direction at u m/s and v m/s, then the time taken by the faster train to

cross the slower train = M sec.

(u-v)
. If two trains (or bodies) start at the same time from points A and B toward
each other and after crossing they take a and b Sec in reaching B and A

respectively, then (A's speed) : (B's speed) = (vVb:/a)

. In water, the direction along the stream is called downstream. And, the
direction against the stream is called upstream.
. If the speed of a boat in still water is u km/hr and the speed of the stream
is v km/hr, then:

Speed downstream = (u+v) km/hr

Speed upstream = (u-v) km/hr
. If the speed downstream is a km/hr and the speed upstream is b km/hr,

then:

Speed in still water = % (a+b) km /hr

Rate of stream = % (a-b) km/hr

Work Sheet

A car travels 90 km in 2 hours 30 minutes. How much time is required to
cover 210 km?

QR WLHWHH 90 H.B HMIHMNHS SLES BHHH0STeNEHD CHID 2 wewl 30
POLmFeT. 9I8% WwHWHH 210 FH.5 HMTHMHS HL5S 6bHHH0HT6NNEHD CHILD

616116)61T6) ?
a. 5 hours 40 minutes b. 5 hours 50 minutes
c. 5 hours 15 minutes d. 5 hours 45 minutes

2| Page




2. Neelaveni goes by bi-cycle to her school every day. Her average speed is
12km/hr and she reaches school in 20 minutes. What is the increase in speed,
if she reaches the school in 15 minutes?
beuBeuemll  HebBHTWID  FHeuewtiguied UeTelld@GF OFeLHMTeT. Dieuengl FIma
Gousd 12 &b / wewll b BHHSHTE0, eweT UeTeMenwtd GFamenLw 20
BILOLMIE6T FBaH. SeueT 15 BHOLSHHe usTalmwsF GFaIBemLbHSHT60 D66
oIFafHs Cousld eeleuena]?

a.4 km/hr b. 8 km/hr c.1km/hr d.5 km/hr

3. A truck requires 108 liters of diesel for covering a distance of 594 km. How
much diesel will be required to cover a distance of 1650 km?
R FIHG euely 594 &S HMIHmHE SLH5H 108 1 lged CHeweulBH MBS
aadlley, Seleuewty 1650 &b FHMTHMHS HL5HH CHemau Bl g6l 66
6161161616 7

a. 350 litre b. 200 litre c. 300 litre d. 250 litre

4. A car travels 360 km in 4 hrs. Find the distance it covers in 6 hours 30 minis at
the same speed.
@@ wAHH 360 HGeum LT HMrHmsd 4 wewl CHIHH0 HLSHIMH. D6H
Gousdhdled HWHFH OFedeud GuTIpg, 6 el 30 HOLMmIS6N60 66666y
SHMTHMBHD HLSHGLD.
a. 595 km b. 500 km c. 600 km d. 585 km

5. A car travels 60 km in 45 minutes. At the same rate, how many kilo meters
will it travel in one hour?
QM LIHHS 45 POLmsale0 60 FH sLESHEBEH. D6H CoussHFHed OGFeOID
QuTEI, @ wenl CBHIHHL DIFI 6I6laIeTe| HMTD HLHGLD.
a. 60 km/hr b. 75 km/hr c. 80 km/hr d. 90 km/hr

6. A car takes 5 hours to cover a particular distance at a uniform speed of 60
km/hr. How long will it take to cover the same distance at a uniform speed
of 40 km/hr?

60 &6 CousdHHed OFevsvld @ WHPAHSH @ GBUILL SHMIHms 5 el
Crrsdev s s3mH. 6H HMIHMS 40 &b GCousdhdled OCFEIBIED, 616160166
CrrsHdHev &L &HGW?

a. 7.5 hours b. 5 hours c. 6 hours d. 8 hours

7. If a car is moving at a speed of 100 km per hour. How much distance does it

cover in one second?

R &TT wewldh@ 100 .15 Coausdhdled CF0HBHI. @ alammiguied SIFH HL&HGLD
SHITTLD 6T60T6017

a.25.2m b.26.6 m c.27.8 m d.28.7 m
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10.

11.

12.

13.

A 220 m long train is running at a speed of 60 km/hr. In how much time will
it cross a platform of length 460 m?

220 8L pen(peiten QFHTLT euewigwimenrgl 60 &/ el  eteiiB  Bousbddev
OFe0dmE).  eteled 460 1B LT MHem(eitem HenL GoedLemul SLLLSBE —616166NT6)]
Gry TBHHISOBTeTEHLD?

a. 41.5 seconds b. 38.7 seconds c.40.8 seconds d.42.4 seconds

A speed of 54 km/hr is the same as
54 &lus/10 Ceuslomendl &SLDHEHEILIBBIOT 6IHBEGHF FLOID?
a.13.5 m/sec b. 15 m/sec c.21 m /sec d. 27 m/sec

In what time will a train 100m long cross an electric pole if its speed be 30
km/hr

100 1§ menmpeiten e Julevmendl wenlld@ 30 &5 / wenll GaussHHed CFeF B
aefled SIbHGH TUIEOTRIHI @ LT HLDLIGHNSH HLHGHID GBI eTevten?

a.12 sec b. 15 sec c. 9 sec d. 10 sec

A man is walking at 10 km per hour. After every kilometer, he takes rest for 5

min. How much time will be taken to cover a distance of 5 km?

QHauT wemldh@ 10 &5 CusdHdHed BLHSH OFeodprT. gealbeumm &lGeum

B Ly SLBSIST 5 BIOLBIS6T @ule] oTBHIHMIT 6leled eUT 5 H.15 HMTHMDH
aeleuene] GBIsHPH60 &L LILIMT?

a. 35 min b. 50 min c. 55 min d. 40 min

A cyclist covers a certain distance at 60 km/hr and he returns to the starting

point at 30 km/hr. Find his average speed for the whole journey.

@@ BUT FHeuemiguied @h GBIUUILL SHMIHemns wWwelldg 60 &5 Goausdhdled
QFO&DBIT. SeuT OQFHTLmSWL @ HmdH ubd el elld@ 30 &l
GousdhdHev 1SewiGd LwenlsHpTT. SleuT OCFas  Ordhsd SMIsHHer  Fyrafl
Gousld eT6ilaI6T6)|?

a. 45 km/hr b. 40 km/hr c.48 km/hr d. 50 km/hr

A passenger train takes 1 hr more than an express train to travel a distance of
240 km from Chennai to Virudhachalam. The speed of passenger train is less
than that of an express train by 20 km per hour. Find the average speed of
both the trains.

Caatemeuled(mbah al(phHTFFLSHBESG 240 H16 HMTHMHHE HLHS @H LILIGWNBHENT
OFTLTeuewngdH@ @ olewje] OHTLTaucwigenwal. 1 wewl GBI FnbBHeOTHH
CxremaulipBFmg. LweniseT OHTLTeuswnguilesr GCousld euemTey OHTLT 6uewIgUil6s
CousdHmaal 20 &b wewl GHemmey eleled, @ OFHTLiTeuamngseilenr gFymal
Gousmibsmend  HenTdhd ([Hb.

a.40 km/hr / 60 km / hr b. 50 km/hr / 70 km/hr

c. 60 km/hr / 80 km/hr d. 70 km/hr / 90 km/hr
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14.

15.

16.

17.

18.

Subha can travel 35 km in 2 hrs If she travel with same speed how much

distance that the can over after the completion of 12 hrs

&Um etedileuT 2 wedGhHysHdHled 35 &S HMID HLSHMAT elenev, DIBH BousdHadev
CaaimBmed 12 wenlGHIHHe0 e6leuene] SHNTD SHLbH EHLILTT?

a. 20 km b. 200 km c. 21 Km d. 210 Km

The speed of a boat in still water is 15 km/hr. It goes 30 km upstream and
return downstream to the original point in 4 hrs 30 minutes. Find the speed

of the stream.

SmFaUBB Bied @ SubsHIiuLdar Cusb wemlsg 15 &b 66is. SIILLG
BCIm L Saleir FHemgulled 30 H.b gmyb Ogem, LIBg 6asHiTsh SHmsuled Hmwl 4
wewil 30 BOLMmSeNed Wewihld yUplulL &L HIMBEG Hm  aubsHTe0  Hifleot
CoussHmapd HTewIH.

a.6 km/hr b. 3 km/hr c. 5km/hr d. 4 km/hr

A car moves at a uniform speed of (x +30) km/hr. Find the distance covered

by the car in (y + 2)hours. (Hint: distance = speed x time).

@ wAWbhH (X +30) &5 / wewll eemp Foren CoussHHed GFevdBgH. (Y+2)
el CHISHHL DIbH WHWHSH SLbHDH HMIHMHH SHTeNiH. (GPLUY. CHTeneve =
Gousld X &HM6LID)

a. (xy + 2x + 40y + 60) km b. (xy + 3x + 40y + 60) km

c. (xy + 3x - 30y +60) km d. (xy + 2x + 30y + 60) km

Sethu travelled (4x2 + 3xy? + 5x) km in “2x” hrs. Find his speed of travel.
Cra 2x wanlGByHHe0 (4x2 + 3xy2 + 5x) &S My Uwewid OQFUIHTT elelev,
Sauflenr Lwent CoudsHmdbs SHTewIsm.

S5 2.9 3, 5
a. (2x+5y +§jkm/hr b. (2x+§y +Ej km,/hr

5, 5 5, 5
. (4x+5y +Ejkm/hr d (3x+gy +5] km,/hr

A man riding a bicycle, completes one , lap of a circular field along its
circumference at the speed of 14.4 km /hin 1 mt 28 sec. What is the area of
the field?

QR BT mFHHlelNed Ul LLOTHa6TeN B HendH SBBIFBTEN, Dleuaier GCeusld
14.48).18/ w0ewiGHID  Sieuet  61BHHBCBTeTEHD GHyd 1 HIOLID 28 GBTIQUITETIT6D
DIFHeT UFLIL| 61616166 7

a. 7958 sq.m. b. 9856 sq.m. c. 8842 sq.m. d. none of the above
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19.

20.

21.

22.

23.

A car left 30 minutes later than the scheduled time. In order to reach its
destination 150 km away in time, it has to increase its speed by 25 km/hr
from usual speed. Find its usual speed.

m wIHWHEH uystur  Geuswigw  CrrsHHeImbBH 30 HOLD  SHTOSLOTHL
UBLUlL &l 150 &S ampssHed o eten  CFpULSHemsd Fhlwmer  OFeimenL
SIHDIML U  apdsoTel CussHmd  Wwewldd 25 0 &b QIHSIUBGSHS
GouemtiguilbpbHSl. 666, LOB(PHHGT 6uDSHHLOTET CoubHMmBHDH HTEWIH.

a.70 km/hr b. 65 km/hr c. 75 km/hr d. 90 km/hr

A man travelled % of his journey by coach, % by rail and walked the

remaining 1 km. How far did he go?

. P . . . .17 . .
QBT HETHI LILIGWT  HITTHIH 60 T Umlend  BamFa  elewnguieid > LUmlend  Juiled
aueoriguileutd g(eiten 1 SHlGeomblLeny BLHSHID HLSHHMIT 6T6dl60 LILIGHT HAFLD

61601601 ?
a. 22 km b. 20 km c. 33 km d. 27 km

A boat moves down stream at the rate of 8km/hr and upstream at the rate of
5km/hr. The speed of the boat in still water is

R ULE BT LHPHar FHomguled wefldsg 8 &b GaussHIHevd BHOITL L SHHBG
gt FHewguled 5 &S GCoussHHed CFLSBEH. Hleweowimer Hifled  SIILIL Sl6it
GousLd

a. 6km/hr b. 6.5km/hr c. 7km/hr d. 7.5km/hr

A man completes 30 km of a journey at 6 Km/hr and the remaining 40 Km in

5 hours. His average speed for the whole journey is

QHaUT 30815 HMIHemsd WwamldbG 6 .6 CausdHdHed SLSHMIT BEBID LBSHLPsTeT
40815 FHMrHme 5 wewl CHISHHL SLEHBIT. elelled DlauHeOLW  OLOTHSH
LweniFHBeTenr gymagm Geusld ereiren?

a. 6% Km/hr b.7Km/hr C. 7% Km/hr d. 8 Km/hr

A train covers a distance of 90 km at a uniform speed. Had the speed been 15
km/hr more, it would have taken 30 minutes less for the journey. Find the
original speed of the train.

gynenr CoussHHed @h OHTLT euemngwneng (train) 90 &6 FMISmBH SLHBH.
SIH@ImL Ul Cousld ewldh@ 15 &6 SIHSMASSUILLIQHHSHTE0, LWwewd OFuIu|b
Gpyb 30 POLES6T GoBHHHIGWD 660, CFHTLT euewiguiesr &gmenr GCousld
BRI,

a. 45 km/hr b. 50 km/hr c.55 km/hr d. 60 km/hr

6| Page




24.

25.

26.

27.

Walking at 5/6 of its usual speed, he is late by 10 min. Find its usual time to
cover the journey.

SlaUHLUW  aUpHHoTer  Geudbd 60 % LB GoudssiHded BLHSTL, SauT 10
BIOLBISET SHTOSHIOTH — QUHSIBIT.  6leled DbHSH LWISHHMSTS  QUPSHBLOTS
dBHHIH CBHT6NTEHLD CHIHMSH BH6uwIL3b.

a. 60min b. 40min c. 50min d. 30min

A and B are two stations 390km apart. A train starts from A at 10 am and
travels towards B at 65 kmph. Another train starts from B at 11 am and
travels towards A at 35 kmph. At what time do they meet?

A vppib B @rewip Meveowtisenen 390 &5 Opmemevalsd o eiengl. @@ Juied
A-@s0 Ombha wewidsg 60 A aamp CussHHed B-emw Crrédl 10 wewls@
UBluGa@ma wBemTm Juied B-Q0 &wmbal 11 wenldd 35 &b GaussHhdled A-2
Cprhs LUBLLGEBE. 6hs Chrssledr Qremh Juieid &hdldbealemen?

a.2.25 pm b.2.35 pm c.2.45 pm d. 2.15 pm

A goods train leaves a station at a certain time and at a fixed speed. After 6
hours, an express train leaves the same station and moves in the same
direction at a uniform speed of 90 kmph. This train catches up the goods train
in 4 hours. Find the speed of the goods train.
@B 75% Juldd @B GBIUUILL GBIdzsled @b BHeowrnes Goausdsded @
pooowsHmsd oG QeuelCGumidmg.. 6  wewll  CrIHIBSGI UIB&G @b
91FHCausguled £I6% MHemeowhHelmbeH UBLULG 8% Hewauled wewldg 90
B8 GoussHHled CFevdps. Bbs DHGausjuled 4 wenll  CHISHIHL FJ5HE
gulemev LNg&HSHTe0 FJdh@G Tulellen GoudsdhemdHd SHeuTLUIeLD.
a. 48km/hr b. 24km/hr c. 36km/hr d. 39km/hr
Solution:
Let the speed of the goods train be x km/hour
Distance covered by
goods train in 10 hours = Distance covered by express train in 4 hours
i.e., 10 xx =4 x90
x = 4x90
10
= x =36 km/hour

A motor car starts with the speed of 70km/hr with its speed increasing every
two hours by 10km/hr. In how many hours will it cover 345kms?

m Gumiint &1 wewldg 70 FH.5 GCussHHed OHTLRGHBH. DiHen Geusld
@6lOeut(m Bgewi® wewl CHyHHBGHW 10 H.5 Gousd DHHMHHT60, 345 &H.16-9
BL5B 61HHeme Lewl GBI 61(HSHHIHOBHT6TEHLD.

a.4 % hours b.5 %hours c.3 %hours d. 4 hours
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Solution:
Initial speed = 70 km/hour Total distance = 345 km
Distance covered in 15t 2 hours = 2 x70 = 140 km
For next 2 hours speed = 80 km/hour
Distance covered in next 2 hours = 2 x80 = 160km
Distance covered in 4 hours = 140 + 160 = 300 km
Remaining distance = 345 - 300 = 45 km

This distance covered at speed of 90 km/hour

- Time taken = »H_1 hour
90 2

Hence, total time taken=2 + 2 + % = 4% hours

28. A farmer travelled a distance of 61km in 9 hours. He travelled partly on foot

@ 4km/hr and partly on bicycle @9km/hr. The distance travelled on foot is:
@ aleugmul 9 el CHIHHed 61 &5 HMID LWEIHSTT. DauT @ LiGHH el
wenldg 4 &b CussHdled Bl Luwend GoBOsTeRiLTed. WaHemul LewnldE 9
B CousdhdHev LFHeuemnouied LIWEwID OCFUISMIT. 6leNed SIGUT HEML LILIUIGITLOTS
OF6im HITJLD 616016017
a. 14km b. 15km c. 16km d. 17km
Solution:

Let the distance covered on foot be x km
Then, the distance covered on bicycle be (61 - x) km

So, X 812X —g
4 9
= 9x +4(61 - x) =9 x36
= 5x =80
= x =16 km

29. An aeroplane covers a certain distance at a speed of 240kmph in 5 hours. To

cover the same distance in 1% hours, it must travel at a speed of.

@@ alrend @m GEIL sMrHmsd 5 wewl CBIHaled wewidg 240 &b
GCousdhdled sLEIBIH. CH HMTHMOS 1% wewll  CBrHFHed  LwWeNNHS

Gouemi(BOoadlled,  Ob%H alTend 6hdh Geaudsdhdled Lwemlbs CouemiBLb.
a. 480 km/hr b. 640 km/hr c. 720 km/hr d. 860 km/hr
Solution:

Distance = 240 x5 =1200 km

Distance _ 1200 _ 720 km/hour

Time %

Speed =
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30. Two trains leave a railway station at the same time. The first train travels due

west and the second train due north. The first train travels 5km/hr faster the
the second train. If after two hours, they are 50 km apart, find the average
speed of each train.
o6 Buisd Bmeowdelmbs QrenB OFTLT  auemngset 6y  GEISHDe
UBLUGS BT,  (1p&He0  auewily  CoBg SHomgomw GHTHESUD, EF6wiLmD ey
ALEG FHogomw  Crréssluyd uwewid QFUISleset.  (IPHED  6UETIQUITEIS
BrewiLTeugkl euewigenwl ol welldg 5 &5 915Hs GCoausdhdled OFe0HBH. Erewn(B
wenil CrprHIHIBSL LIBG DeaupPdnEg Qv CuiujeTen OFHTeneve 50 &S,  elefle,
e6elGleum(p euemiiguiledr Fgmall GousdHdleneard SHTewIsb.

a.25km/hr / 30 km/ hr b. 20km/hr / 25 km/hr
c.30 km/hr / 35km / hr d. 15 km/hr / 20 km/hr
Solution:

Let the speed of the second train be x km/hour 8
Then, the speed of the first train be (x + 5) km/hour / ‘
In 2 hours, o

JE—
1>

The distance covered by 1st train = 2(x + 5) km
The distance covered by 2nd train = 2x km l
By, Pythagoras theorem we have, T —
(AB)’ = (OA)’ + (OB)’
= (50)" = (2(x+5))" + (2x)
=2500 = 4(x2 + 25 + 10x) + 4x2
=8x2+40x - 2400=0
=x2+5x -300=0
=((x-15) (x+20)=0
—=x =15 (or) - 20
Hence, x = 15 (- Speed cannot be negative)
.. The speed of the 2d train be 15 km/hour
and the speed of the 1st train be 20 km/hour.

2
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Time & Distance Work sheet Answer Key
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